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for the questions

1. Answer the following as directed (any ten) :
1x10=10

woTs PRIERE fw Sepi oed i (R ceice! w=ot) -

(a) The property of a proposition is truth/
validity.

( Choose the correct answer )

I @l R Tl / [l |
(W= SeI! iR Sfersar )
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(b) ‘“‘Logic is concerned primarily with
argument forms and secondarily with
argument.” Is this statement true?

“SHREE AU [T TR O wi
cNeTeid e ote wiee I @2 SfEwht o2

(c) Which term is distributed in an ‘O’
proposition?

‘O’ IoT© IO W I ]9

(d) What is the symbolic form of universal
affirmative proposition?

FG AL o9 AL FiFiF 92

(e) Can an ‘A’ proposition be converted
simply?
‘A TR @ IE IRA ARG ?

(f) Which two terms are present in the minor
premise of a syllogism?
Bl A TF A TS GRS 2t 751 s
T Sy 4|

(g) 'Which type of opposition is there between
‘E’ and ‘T' propositions according to
Aristotelian logic?
< BHN SFR@M SR E’ e T qoeq
TEe & @R R wng?
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(h) An immediate inference has one/two/
three premises.

( Choose the correct answer )
TGN SRS @5 / 76!/ foRG Sy 95w

T |
(w7 S6I! 9y Sfereat )

(i) Syllogism is an immediate inference/
mediate inference.

( Choose the correct answer )

T GO SIS [/ G S |
( ®m Seact difz Sfeeat )

(i) The predicate of the conclusion of a
syllogism is called

( Fill in the blank )

9ol TR Praes Rew «m I @it
= |
(3 B2 s 4t )

(k) “‘In an inductive inference, the conclusion
cannot be more general than the
premises.”” Is the statement true?

“ @bt SIS T DTl ST
@R T 2T ERIE 1T 93 SE0HT ToE ?
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(I) Is the syllogism valid, when both the
premises are negative?

@SR @Bl TR TG Sy 5w el =7,
cofert G Y W2

(m) Name the figure in which DARII is a valid
mood.

DARII R 7Z7q @4 I, G2 F=ZHGR
foratt |

(n) State the position of the middle term in
the Fourth figure of a syllogism.

THF 594 AT @D T 0! StE 4 |

(o) The First figure of syllogism is also called

as figure.

( Fill in the blank )
TS AL ALZIC! A e @l
= |

(& DR o= T4 )

(p) How many circles are to be drawn to test
the validity of a syllogism through Venn
diagram?

(S foae T2we 96l iET @Eel iy SR
@25l I8 A IRI A7
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(qg) What is the symbol used for ‘belongs to’
in set theory?

T2 oge w@ERE it dSIRn! 752

(r) Symbolize the given proposition by means
of set notation :
No Americans are philosophers.
frrfeiRe® o001 Tkefe e TRTS R
4l
I S 2w |

2. Answer the following questions (any five) :
2x5=10

woTS frl 2P Sed Byt (R @it +fiobi)
(a) What is formal truth?
HielRere Topel e & @i

(b) State two differences between deduction
and induction.

oI I eI TS 41 vt A< forsi |

(c) What are the two important conditions of
a valid argument?

3 e 1ot BFged 56 5 (52
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(d) Give an example of a valid argument
having true premises and a false conclu-
sion.

o] S I67 WE ST Prad AP 9Bt @y
Ifeq Swizga i |

(e) Define particular affirmative proposition
with the help of an example.

B! SHIZReE T2ITS ReiE WS o9 Azt frat |

(f) What is meant by ‘mood’ of a syllogism?
T IS e & w2

(g} Write the names of four valid moods of
First figure of syllogism.

DI 2o FRZ BIfGT R4 AT T v

(h) Give example : Fallacy of undistributed
middle.

Tnede Tl Sl @9 M (i |

(i) State any two rules of syllogism.
TIET R I 75! R St 4|

(i) State two methods of representation of
sets.

R2fs o 1 A FIF 90! “TafS S 9 |
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3. Answer the following questions (any four) :
5x4=20

o i TR T i (R e oif<e) -

(a) Distinguish between deductive and induc-
tive arguments.
e e ST SeEENe IeT Twe 356
“figfy fadfa s

(b) How many figures are there in a syllogism?
Ilustrate the figures of a syllogism in linear

form. 1+4=5
TEE A @517 @t TREE TEE
BP0 A 4l |

(c) What is simplification of propositions?
Simplify the following sentences into
logical form (any three) : 2+3=5
/9 AR e & @i ? ek -
@25 ol PR e T (R e
oot -

(i) All good authors are not good
speakers.
P Sl GTIF O] I&! T2 |

(ii) Only the intelligent persons can pass
the examination.
@E are IfeER @@ TS Talf
Z'q M|
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(iii) Most of the students are honest.

QeFelet 7@z e |

(iv)] Wise persons are always revered.

@i Ihe T{G s |

(d) What is the middle term? What is the role
of the middle term in a syllogism? 2+3=5

@P 7 A 67 GBI TS @P M9 R f59

(e) What do you mean by opposition of
proposition?

o1 [Rifret I & gmie

(f) State the special rules of the Third figure
of a syllogism.

TEE PO I [eR PR S )

(g) Distinguish between immediate and
mediate inference.

TG SIE G S NS Ay By
4l |

(h) State the special rules of the Fourth figure.

ogd T Rew frer Swy w6
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4. Answer the following questions (any four) :
10x4=40
oS firal epeTEd e forit (R Gttt wifio)

(a) What is an argument? Explain the relation
between argument and argument form.
o ww 7 o TF e AFT T
o gt 40

(b) Write an essay on the relation between
truth and validity.
Topo! S (He o e 3 e |

(c) What is a syllogism? Briefly explain the
fallacies of syllogism.

T T 92 TEI GIRETTR HLe 1

(d) What is conversion? Define conversion by

negation. State the rules of conversion.
2+2+6=10

SRS W 57 e Raea e |
TREq ez O 9|

(e) Explain the square of opposition with the
help of diagram.

B FA2S o9 [ Isfthas I F41 |

(f) Tlustrate AEIO propositions with the help
of Venn diagram.

(o foum RITS AEIO 5Pz a7 4l |
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(g)

(h)

A23/454

( 10 )

What is venn diagram? Explain the
method of testing the validity of an
argument by using the Venn diagrammatic
technique.

s foa FF @E? con ow *aie g IR
e gt ffa a1 A o v |

Prove the validity of the following
arguments using the Venn diagrammatic

technique : 5+5=10

oA foq ~mmfe dwet o fatie Ifes wyet
g = -

(i) All mathematicians are wise.
All philosophers are mathematicians.
. All philosophers are wise.

e sfvew zg @i
e wrfae = siftvew |
. e v = i

(ii) All Indians are patriots.

Some patriots are not social reformers.

. Some social reformers are not Indians.

FEE SO =W orielfie |
P ericafie T g |
. o TG-FEE = Sle |
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(i) What is set? Explain with examples how
the traditional AFEIO propositions are
symbolized with the help of set notations.

72fS I B2 =o[@ITS AEIO 579 H32fS
TH TS @EE  doRd ¥ =,
TrizgPz. g T4 :

(j). What is operation of sets in set theory?
Explain various operations of sets.

ARfoege ARy AfEE Wi 57 AEfvews
Rfen afeFm ot F1t 1

* & %k
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